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Year 1| Spring Term | Week 1to 4 - Number: Addition & Subtraction

Subtraction - Not Crossing 10
Reasoning and Problem Solving

Annie, Tommy and Alex are working out | Possible response: || How many ways can you complete this | 20-9=11
‘which calculation is represented below. | Tommy is correct number sentence? 19-8=11

o = - because first there | | Use the number line to help you. 18-7=1
e e were 17 cakes and 7-6=1
now there are still 16-5="letc
17 cakes sozero I EE TR RS REEITTIIIIAIM

cakes were eaten.
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Can you work out who i correct?
Explain why.
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